Supplementary Material SM13

A) Introgression in duplicated region, D=A. arabiensis
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(((Clcol_TRUE,AOcol_FALSE),X),arab) dup
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(((GHcol_TRUE,AOcol_FALSE),X),arab) dup
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(((Cleol TRUEAGcol FALSE) GHgam TRUE) arab)
0.352+/-0.040| Z=8.708 | p
mclml TRUE,AOcol FALSE)EFgam TRUE}arah)
D=0.257 +/-0,038 | Z = 6.851 | p=7.3;
(ool TRUEACcoL FALSE) GNgam muamm
=0206 +/- 0,038 | Z = 5.383 | p = 7.327E-08
mcuwl TRUE A0c0l FALSE) GHgan FALSE)arat)
=-0.105 +- 0.0:
(L(CIcoI,TRUE‘AOCoLFALSEv‘EFgam FALSE%aralﬂ
= 07 | p = 12181

(uclcol mumou ALSE)GNQ FALSE)zmb)
=-0.110 +/-0.042 | Z=-2.630 | p = 8 545E.03
<((c|m|_rRugA0anmsa Shgam. FALSE) ara)

D'=-0.164 +/-0. = 3824
(Gl TRUE, Ao FALSE)CMgam FALSE}arah)
=019 +/-0.040 | Z p=3048E.03

{(Cico FALSE Ol FALSE) GHgam, TRUE) arab)
=-0.026 +/- 0,043 | Z e

(«c\cn\ FALSE AOcol ALSE)EFgam mus;mn)

D=-0.020 +/-0035 | 2 =-0.566 | p= 5.

{(Cleo FALSEAOco! FALSE)GNgam mus) arab)
-0.015 +-0034 | Z 6502601
(110\4:0\ FALSE, Ao FALsE)GH o FALSE) arab)

=-0.015+/- 0,033 | Z=-0.449 [ p = 6.536
(((C\coLFALSE‘ADcoLFALSELEFgam,FALSE)‘aralﬂ
- 25220166 | p =
(uc\cm msg yrde FAL5E)GNgam mss) arab)
-0.017 +/-0.026 | 2= -0.670 | p = 5.031E-01
(«c\cn\ FALSE AQcol ALSE)GAgam FALSE) arab)
D'=-0.068 +/- 0.032 | Z = -2.086 | p = 3.700E-02
(Clool ALSE AOcol FALSE) Chigam FALSE) arah)
-0.017 +-0.025 | Z=-0.676 | p = 4.989E-01

{(GHen TRUE AOce) FALSE) Grgam. TRUE) ara)
D=0.288 +/- 0.046 | 2= 6.326 | p = 2513E-10
((@Hool TRUE AOce) FALSE)8Fgam TRUE) ara)
D=0.185 +-0,044 | 2= 4.345 p = 1.396E-0
((GHcol TRUE AOcol_FALSE) GNgam 1 mus) arab)
D=0.152 +-0.043| Z=3,519 | p = 4.327E-04
{(Griool TRUE Aco FALSE) GHgam FALSE) arab)
=-0.079 +/- 0,051 Z=-1536 | p =
((GHiool TRUE.AGCo, FALSE) F amjALsE»,amw
= 04312 333 | p
«4cncm mug Aocol rALsEy GNgzm FALSE}arab)
D=-0086 +/-0045| Z=-1.908 |
((GHeol_TRUE AOco FALSE) GA.gam msa arab)
D'=-0.138 +/-0.049 | Z=-2.786 | p = 5.331E-0:
(@0l TRUE AOcel ALSE)‘CMgamiFALSE)‘arah}
“0.098 +-0.044 | Z = -2.247 | p = 2.466E-02

{(GHioo FALSE AOcol FALSE) GHgam,TRUE) arab)
=-0.024 +1-0.046 | Z=-0.527 | p = 5,979

(((GHm\ FALSE AOcol FALsEmFgam mus) arab)

D'=-0.026 +-0.039 | 2=-0.647 |

(@il FALSEAOC0! FALSE) GNgam TRUE) arab)
=-0023+-0.039| Z i p = 5.587E-01

(LLGHW\ FALSE AOcol FALSE)GHQam FALSE)arst)
=-0.006 +/-0.038 | Z=-0.155 | p = 8.772

((@rea, FALSE AOooLFALSE)‘EFgam,FALSE).arab)

¢ 35| 2= 0,055 p <

(((GHoo\ FALSE AOcol FALSE}GN o FALSE)arab)
=-0072 +/-0.034 | Z2=-0.362 | p = 7.173E-

(((GH\»\ FALSE AOcol FALSE}GAgam mss) arab)

D'=-0072 +-0.043 | 2 =-1.677 | p = 9.363E-0:

((Griol FALSEAOCo! FALSE) CMgam FALSE)arah}
=-0.075 +-0.034 | Z=-0.440 | p = 6.599E-01

{(BFest TRUE Aol FALSE)Ggam, TRUE) re)
=0.305 +/- 0.046 | Z = 6.6
(e TRUE AL FALSE) g TEUE) 12
D'=0.220 +/-0.042| Z=5.264 | p = 1.412E-07
(B TRUE A0col FALSE) GNgam, TRUE) 1)
=0.177 40,043 | Z= 4.113 | p = 39T0E-05
WBFwI TRUE,AOcol_FALSE),GHgam_F FALSE)alaDJ
=-0.083 +/-0.050 | Z 77 | p = 9.361E-0:
(1(BFO0I TRUE AOcol_FALSE),BFgar ,FALSEJ‘avab)
00422 =-1.917 | p - 5520602
(41BFwI_TRuEAOco\_FALSE).GNgam_FALSE).aram
=-0.088 +/-0.044 | Z =4.289E-
(e TAUE AR FALSE Choa FALsamm
D=-0.136 +/-0.048 | Z = -2.827 | p = 4.692E-0
(ol TRUEAOcol FALSE)Chgan | ALSE )
0,100 +- 0.042 | 2 1744502

({8720, FALSE ACcol FALSE) GHgam TRUE)aat)

-0.028 +1- 0.040 | Z = -0.7¢ TIE:

(((EFcaLFALSE,AOca\ FALSE).EFgamJ'RuE),amb)
D=-0.026 +/-0.035| Z =

{(@Fcol PALSEACc) FALSE) GN A YRUE}avab)

0,020 +-0.033 | Z | p = 5.485E-0

L((ach FALSE/ Aow FALSE)GHQam FALsE)aram

D=0.073+/-0.034 | Z = 0.382 | p = 7.026E-0'

(@raoL FALSE AOcuLFALSE).EFgam,FALSE)‘avab)
e 261 2= 0447 | p o

(((EFco\ FALSE AOCol FALSE) GNgam FALSE) arab)

-0.000 +/- 0.029| Z= -0.0¢ S50E

(((EFca\ FALSE Aco FALSE) GAgam FALSE) arab)
D=-0.059 +/- 0.037 | Z=-1.688 220

ereal FALSE AO-;u\ FALSE) CM m FALsE)arab)
=-0.000 +/- 0,028 Z |p=9.983E-01

C) Introgression in duplicated region, D=A. merus
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(((GHcol_TRUE,AOcol_FALSE),X),meru) dup
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(((BFcol_FALSE,AOcol_FALSE),X),meru) dup

(Gl TRUE A0coL FALSE) igom TRUE) mers)
D'=0.302+/-0.039 | Z=7.685 | p = 1.535E-14
(e TRUE AOcoL FALSENBFgam TRUE) mors)
=0.217 +--0.033| Z=6.551 | p = 5.721E-1
11{C\DDLTRUEAOWLFALSE)‘GNQEIVLTRUE),MSM’
34| 2
(({C\co\ TRUE AOw\ FALSE] GHgam FALSE}me'UJ
-0.124 +/-0.036 | Z
(NC\co\ TRUE AOcol FALSE) EFgam FALSE)mevu)
<0108 +1-0.033 | 2 =323 |
(G0l TRUE Aea msa SN 1 msgmemy
D=-0.119+/-0.033|Z 606 |
((Cleol TRUE AOca) FALSE) GAga msg. meru)
=-0.758 +-0.036 |2 =4.369 | p = 1. 141E.0
(il TRUE Aol FALSE) G| msz; moru)
D=-0.124 +-0.032 | Z

{(Cleol FALSE AQcol FALSE) GHgam TRUE)mer)
D=-0.104 +/- 0.053| Z=-1.956 | p = 5.052€-02
(((Cleol_ FALSE AOco FALsEmFgam TRUE) moru)
=-0.096 +- 0,046 | Z=-2.056 | p =
{(Cleal FALSEACo) FAL$E)‘GNgamJRUE)‘msru)
612
L((Dlw\ FALSE AOoo\ FALSE)GHQam FALsE;mem
71Z=-2.224 | p = 2.615E-02
(((clom FALSE Aow FALSE)EFgem FALSE) meru)
=-0.084 +/- 0,043 | Z=-1947 p =
{(Cleo FALSE Ol FALSE) GNgam FALSE)mem)
D =-0.098 +/- 0.042| Z=-2.347 | p = 1.893E-02
(((Clcol_ FALSE AOcol FALSE}GA.gam FALSE).meru)
=-0.135 +)- 0,044 Z=-3.048 | p = 2.319E-03
(Cleol FALSE ACcol FALSE)CMgam FALSE)meru)
0,003 +-0.042 | Z 0[p=2711E

(ol TRUE AQc) FALSE) GHigam TRUE) meru)
=0.235 +/- 0,044 | Z = 5.407 | p = 6.400E-08

(((GHm\ TRUE AOcol FALSE) BFgam TRUE) mer)

D=0.145 +/- 0,038 | Z = 3.802  p = 1 437E

((GHeol TRUE AGc) FALSE)Chlgam YRUE)mam}

D=0.117 =2.940 [ p = 3.285E-

L((GHW\ TRUE AOocI FALSE) GHgam FALSEJ meru)
0175 +-0.037 | 2= =1.920E.03
L((GHooLTRuE.AOcoLFALSE) ngamjALsE) meru)

D=-0.100 +- 0.034| Z=-2.953 | p = 3.143E-03
{((SHeol TRUEAOcO, FALSE) GNgam FALSE)mer)

D=-0.109 +/- 0.034| Z=-3231 | p = 1.233E-03
(((GHeol_TRUEAOcol FALSE) A EALSE) mec)
D=-0.145 +-0.037 | Z
{(@Heal TRUEAC) FALSE)CMgam FALSE) meru)
0,175 +-0.034 | Z

(s, FALSE A0l FALSE) Oigam TRUE) )
-0.134 +/-0.047 | Z =4.170E-03
(@ FALSE A msz) argan TRUE o)
D=-0.130 +/-0.041 | Z 97 | p = 1.387E-03
H(GHwLFALSE,AOWLFALSE)‘GNQam,TRUE),mamy
012
WGHwI FALSE AOouI FALSEJ GHQam FALSE] meru)
=-0132+-0042| 2
MGHcoI FALSE AOcol FALSE) BFgam FALSE)memW
D=-0.113 +-0.038 | 2= -2.989 | p = 2.798E-0
{(Hen, FLSE Ao FALSE)Gaan ms.a meru)
=-0.125+/-0.037 | Z
(Gt FALSE AR FALSE) GAg.nm FALSE)mem)
D=-0.166 +/-0.041| Z = -4.043 | p = 5.
{{(GHcol_F FALSE AOWI FALSE) CMgam FALSE) meru)
D=-0.122 +-0.037 | Z

(BFcol_TRUE AOcol_ FALSE) GHgam_TRUE) meru)
D'=0250 +- 0,044 | 2= 5,648 | p = 1.621E-08
{(BFcol TRUE Aee) FALSE)8Fgam TRUE)mer)
=0.175 +-0.038 | 2= 4.637 | p = 3537E-%
(Rt TRUE ADE0 FALSE) Ghgan mus) meru)
=0.133+-0036| Z= 3678 |
(((EFGL)I TRUE, AOW\ FALSE)GHQam FALSEDmeNl
-0.176 +/- 0.034 | Z= -3.415  p = 6.388E-04
A((EFCDI TrE Aden FALSE)EFgam FALSE)mer)
=-0.101+/- 0,031 2=-3281 | p
(BFcol TRUE,AOco!_f ALsEmNgam_msa meru)
D'=-0.110 +/-0.030 | 2= -3.634 | p = 2.788E-04
((BFcol TRUE Ae0 FALSE) GAgam FALSE) moru)
=-0.141 +- 0.034 | Z = 4119 | p = 3B01E-0:
((BFcol_TRUE,ACco! FAL$E;‘CMgam,FALSE)‘mem)
D'=-0.117 +/-0.030| Z=-3.859 | p = 1.139E-04

((8Fca FALSE AGcol FALSE) Ggam TRUE) men)
134 +/-0.042 | Z 1.248E-03
(((BFcn\ FALSE,AQCol FALSE)BFgam TRUE)mery)
=-0.126 +/-0.037 | Z=-3.4
(L(BFWLFANE‘AOWLFALﬁE)‘ENgamJRUEJ‘mem)
712
(uEch FALSE AOco\ FALsE;eH jam FALsE)mem»
=-0.110 +/-0.040 | Z=-2.768 | p
u(EFcoLFALSE AOcoLFALSE) EFgam,FALSE)Jnem)
=-0.036 +/-0.036 | Z=-2.675 | p = 7.481E-03
(el FALSE ACcol FALSE)ONgam, FALSE) meru)
=-0.110+/-0.035 | Z =1.752
u(am\ FALSE,AOcol FALSE)GAgam FALSE) meru)
=-0.150 +/-0.040 | Z
(BFeal FALSEACca) FALﬁEbcMgam FAI.SE)meN)
=-0.105+/-0.035 | Z =2.600E-03

B) Introgression in duplicated region, D=A. melas
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(((Clcol_TRUE,AOcol_FALSE),X),mela) dup

Introgression in duplicated region,

(((Clcol_TRUE,AOcol_FALSE),X),quad) dup

(((BFcol_TRUE,AOcol_FALSE),X),quad) dup

((BFcol_FALSE,AOcol_FALSE),X),quad) dup

(((Cleol TRUEAGcol FALSE) GHgam_ TRUE) mele)
363 +/- 0,037 | Z=9.849 | p = 6.945€-23
(((Clml TRUE,AOcol FALSE)EFgam TRUE) meia)
D=0.22 +/-0,038 | Z =7.625 | p = 2.439E-1.
{(Cleel_TRUE AOcal FALSE) GNgam mua mela)
=0.250 +/- 0,040 | Z = 6.320 | p = 2.623E-10
(ucuwl YRUE AOcol_FALSE) GHgam_FALSE) mela)
=-0.031 +/-0.047 | Z=-0.655 | p = 5.123E-01
{((Clool TRUE,ACcoL FALSE) BFgam FALSE)mels)
1-0.048 | Z 9lp=
mclcol TRUE AOcol FALSE)GNgem FALSE)meIz7
=-0.014 +-0.045 | 2= -0.310 | p = 7.567E-0'
(((clml_rRung:m_FALsa GAgam_FALSE7.me\a}
D=-0.069 +-0.052|Z =-1.331 | p = 1.832E-01
{(Clool TRUE,AOcol FALSE) CMigam FALSE)mela)
=-0.020 +/-0.045 | Z = -0.444 | p = 6.569E-01

((Clool FALSE AOco, FALSE) GHgam_TRUE) mela)
0.039 +- 0,042 | Z= -0.928 | p = 3536E-0

(((C\m\ FALSE /AOcol_FALSE) BFgam 1 mus) mela)

D=-0.043 +/-0,039 | Z=-1110| p = 2671

{(Cleal FALSEAOc0 FALSE) GNgam muz) mela)
0.035 +- 0037 | Z =-0.953| p = 3.406E-01

(((cwww FALSEAOcol FALSE) GHgam FALSE)mela)
0.048 +- 0,043 | Z= -1.106 | p = 2.686E-0

{(CleoL FALSE AOol FALSE) BFgam FALSE)me\aY

0.028 +-0.039 | Z=0.721 | p

(«cw FALSE AOcol FALSE)GNgam FALSE)meIa)
0.042 +/- 0038 | 2= -1.105| p = 2.693E-01

(((C\m\ FALSEAOco) FALSE) GAgam_FALSE)mela)

+1-0,043 | Z=-1.983 | p = 4.T49E-02

(((C\m\ FALSE /AOcol_FALSE).CMgam_FALSE) mela)

0.037 +-0.038 | Z=-0.971| p = 3.313E-01

{((GHeol TRUE/AOco) FALSE) GHgam TRUE) mela)
0037

=0293 4 | 20 [ p = 2.370E-15
(((Gch\ muz AOcol FALSE7 BFgam. TRUE) mela)
D=0213+-0038 | 05 [ p = 2.082E-0

(o TRUEAcs) FALSE,GNgam TRUE)maIa)
=0.185 +-0,037 | 9200
((GHcol_TRUE AOcol FALSEJ Crigan FALSEJ mela)
D'=-0.026 +/-0.038| Z=-0.675 | p = 4 969E-0
{(Griool TRUE.AOco FALSE) BFgam msemaa)
+1-0,038|Z= 0271 | p
u(emw Ao | FALSE), GNgam msn mela)
0076 +-0,039 | Z= 0421 | p = 6.736E.01
(((Gch\ TRUE,AOcol FALSE) GAgam_FALSE)mela)
D'=-0065 +-0.046 | Z =-1.426 | p = 1.539E.01
(((GHool_TRUE AOcoL

0,024 +-0.038 | Z

ALSE).CMgam_FALSE) mela)
0631 p=5.279E-01

{(GHea, FALSE AGcol FALSE) GHgam TRUE) mee)

0.043 +/-0.0422 =

(((GHeol FALSE AOco! FALSE) BFgam TRuE) mela)
-0.052 +/-0.040 | 2 =-1.295 | p = 1.95

(erioa mss AOcol_FALSE).GNgam TRUE)meIa)
~0.046 +/-0.038 | 2 =1.200 | p = 2.300E-01

1(1GH50\ FALSE AOcol_FALSE) GHgam_FALSE)mela)
0,047 +/-0.042 |2 =-1.117 | p = 2.642E-01

(((GHool FALSE.AOco PALSE)BFgam FALSE) mels)

+-0041]2=-0.789 | p

(11GHmLFALSE.AOcoI FALsE),GNgam,rALsa mela)

0,043 +/-0.04012 =

(((GHeal FALSE AOco! FALSE) GAgam FALSE}me\a)
-0.092 +- 0,045 2= -2.048 | p = 4.034E-0:

(erioa mss AOcol_FALSE).CMgam f FALSEimeIa)
-0.041 +/0.0411 2=-1.008 | p = 3.129E-01

(e TRUE A0col FALSE) Gigam, TRUE) mole)
D=0317 +/- 0,041 '35 | p = 1.036E-
(e TRUE AL FALSE)F g TRUE)meIa)
=0.253 +/-0.041| Z=6.183 | p = 6.305E-1
(e TRUL O FALSE) g TRUE) ol
D =0.218 +/-0.041| Z=5.318 | p = 1.050E-07
(«EFccl TRUE,AOcol_FALSE),GHgam _F FALSE) mela)
=-0.016 +/-0.046 | Z = -0.346 | p = 7.295E-0'
((1EFocI TRUEDAAOCO FALSE)‘EFgam FALSE) mela)
(usle TRUE AOcol FALSE) GNgan msg) mela)
0.005 +- 0.046 | Z = -0.107 | p = 9.748E-0°
(Beo TRUE AR | FALSE) Ghgan msa mela)
-0.052 +/-0.052 | Z=-0.995 | p
(e TUE Ao FALSE o AL Syl
D =-0.012 +/-0.045 | Z = -0.277 | p = 7.815E-01

(@0l PALSE Ao, FALSE) GHgam, TRUE)mel)
0,046 +-0.042 | Z= 1096 | p = 2731E-0
(((BFcol FALSE AOcol_FALSE)BFgam TRUE}me\a)
D'=-0,052 +/-0.039 | Z=-1.333 | p = 1.626E-01
(BFcol PALSE Aco, FALSE) GNgam_ TRUE)mola)
/-0.037|Z=-1.152 | p = 2.493E-01
{(LBFW\ FALSE AQco) FALSE)GHgam_ FALSE)mels)
D= -0.029 +/-0.041 | Z=-0.69% | p = 4.862E-
((BFooL FALSE,ACCo| FALSE) BFgam FALsE)mewaw
=-0.078 +/-0.039 | Z=-0449| p
(L(BFco\ PALSE AOcol | ALSE)GNgzm FALSE)meIa)
030 +1-0.039 | Z=-0767 | p
(@Fco PALSEACC) FALSE)GAgam FALSE) mela)
=-0,080 +/-0.044 | Z=-1815 | p = 6.951E-0
( KEFWLFALsE‘AoWLFALsE;‘cMgamjALsE)mwa;
=-0.026 +/-0.039 | Z=-0.681 | p = 4.956E-01

D=A. quadriannulatus

{(Cleol TRUE O FALSE)GHgam TRUE) quad)

=0.394 +/- 0,047 35 | p = 3.298E:

(((C\cm TRUE,AOcol FALSE) BFgan_ mus) quad)

D=0.325 +-0.047 | 2=6.955| p=3.

((1C\WLTRUE.AOWLFALSE)‘GNQam,YRUE),quad)

048|Z=5981|p

(((cm\ TRUE AOcol FALSEJ GHgam FALsEmuaay

D =0.076 +-0.048 | Z= 0327 | p = 7.434E-01

(((Clcol_TRUE.AOcol FALSE) BFgamFALSE) quad)

D= 0.028 +/- 0.052 2 p

(((Clcol_TRUE.AOcol FAL557 eugam FALsaquaay

D=0.020 +- 0,051 93| p = 6.941E:

{(Cieo TRUE ACC) FALSE) GAgam_f FALSE)quad)
41 +1-0.052 | 2 =-0.781 | p = 4.3

((u:w TRUE AOcol_FALSE) CMgam f FALSE) quad)

D=0.070 +-0.051|Z = 0.198 | p = 8.433E-0

{(Cleal FALSE AOKol FALSE)GHgam TRUE)quad)
=-0.147 +/-0.056 | Z=-2.616 | p = 8.696E-03

(((Clml FALSE AOcol_FALSE) BFgam_TRUE),quad)
=-0.143+/-0.052 | Z=-2.735 | p = 6.245E-03

((Glot FALSEACcol FALSE) G, TRUE) cusd)
=-0.140 +/-0.050 | Z

mcneol FALSE. AOouI FALSEJ GHgam FALssyquaa)
=-0.157 +/- 0,045 | Z= -3.497 | p = 4.706E-04

u(clcol FALSE AOcol FALSE) BFgam FALSE) quad)
=-0.141 +/- 0,044 | Z=-3.228 | p = 1.244E-(

{(Clel FALSEAOcol FALSE) GNgam FALSE) quad)
=-0.153 +/-0.045| Z=-3.392 | p

(((Clml FALSEAOcO, FALSE) GAg.nm FALSE)quad)
=-0.195 +/-0.044 | Z=-4.385 | p = 1.T50E-05

(Gl FALSE AOoL FALSE) GMgam, FALSE) quad)
=-0.150 +/- 0,044 | Z

{(GHeol TRUE A FALSE) Ghgam, TRUE) usd)

D= 0.285 +/-0.052

((GHeol TRUE,AOcol FALSE)EFgam YRUE)quaﬂ)

D= 0.208 +/- 0.050

{(GHool TRUE AOco) FALSE)GNgam YRUE}quad;

D= 0.180 +

((Groo mus AOco\ ALSE)GHgam FALsE)uuaa)
=-0.030 +1-0.046 | Z=-0.653 | p = 5.138E-01

(uenm TRUE AOcol FALSE)EFgam FALSE) quad)

D= -0.026 +/-0.049 | Z=-0.529 | p = 5.96BE-0

(el TRUE.AGo) FALSE)GNgam | FALSE) quad)
=-0.031+/-0.049 | Z=-0.633 | p = 5.269E-01

(((GHmI TRUE AOcol FALSE) GAgam FALSE) quad)
=-0.084 +/-0.051 | Z=-1.642 | p = 1.007E-0

{(GHol TRUEAOco) FALSE) Cligam FALSE)quad)
=-0.042 +/-0.048 | Z=-0.874 | p = 3.623E

=3,

(Gt FALSE Aol FALSE) i, TRUE) )
D=-0.176 +/- 0.054 | Z =1.220E-03
(G FALSE A AL g TRUE qued)
=-0.176 +/-0.050 | Z 505|p=
(11GH:oLFALSE,AO:OLFALSE).GNgamJRUE)‘quad)
R 812
((1GHCD\ FALSE AOcol. FAL$E7 GNgam FALSE) «quad)
0,170+ 0.042 | 2= 4243 | p = 2.205E-05
((1GchLFALSE,AOm\ ALSE) BFgam F FALSENuadl
D'=-0.170 +/-0042| 2= 3,995 | p = 6 475E-0
(ot FALSE A0 FALSE) ONgam P
179 +/-0.044 | Z 15| p = 3.868E-05
(Gt FALSE Al AL G EALSE )
=-0.227 +/-0.044 | Z = -5.187 | p = 2.138E-07
{((GHcol_FALSE,AOcol_FALSE),CMgam_FALSE).quad)
D =-0.179 +/-0.042 | Z = -4.235 | p = 2.2B4E-05

{(BFeol TRUE,AOco) FALSE) Ghgam_TRUE) quad)
0345 +/- 0,052 Z=6.689 | p = 2.242E-11

(((erm\ TRUEACGol FALSE BFgam_TRUE) quad)
= 0281 +/-0.050| 2= 5.628 | p = 1.827E-0¢

((BFcol TRUE AGes) FALSE) Ggam TRUE) quad)
=0.247 +1-0.048| Z=5.138 | p =

(L(EFCO\ TRUE AOwI FALsEy GHgam FALsE)auam
=0.016 +I- 0.047 | Z=0.339| p = 7.350E-01

tumm TRUE AQco, FALSE)BFgam FALSE) quad)

D=0.034 +/- 0.048 | Z = 0.503 | p = 6.148E-(

{(@Fcol TRUEAOCO FALSE) g FALSE}qusd}
=0.018 +/- 0,046 2= 0.403 | p

(((em\ TRUEAOcol FALSE) GAgam FALSE)quad)
0.034 +-0.047 | Z = 0.727 | p = 4670E-01

L((BFcn\ TRUEACGol FALSE) CMgam FALSE) quad)
=0.006 +/- 0.047 | Z= 0.136| p = BI21E-

(B0l FALSE AQcs) FALSE) GHam_TRUE aue)
-0.164 +/- 0.059 | Z'=-2.803 | p = 5.084E-03

maer FALSE AOcol FALSE)Brgam TRUE qued)

=-0.162 +/- 0.054 | Z 16 | p = 2.562E(

1{(BFw\ FALSE AOcol_ FAI.SE) GNgam TRUE) quad)

-0.157 +/-0.050 | Z = -3.

«(BFDO\ FALSE AOcol_ FALSEI GHgam FALSE) quad)
014 +1-0.045 | Z= 3203 | p = 1 361E-03

(e PALSE ARl FALSE) EFgam FALsE a0

20130 - 0045 2= 3008 | p 2 1.64

((BFen FLSE Aoce ey Shgam mss;qm»
0151 +1-0.045 | 2= 3313 |

14(5me FALSE AOcol_FALSE) emm mss) quad)

=-0.198 +/-0.044 | Z=-4.461|p =

1{(BFw\ FALSE AOcol_FALSE), CMgam FALSEJ .quad)
=-0.148 +/-0.044 | Z=-3.354 |




